
1)

Answer: ____________

2) 150 + 457

Answer: ____________

3) (10 x 109) + (8 x 105)

Answer: ____________

4)
Find the next three numbers in 
the sequence
48,51,204,207,828,831,3324__,__,__

Answer: ____________

5)
32

2 /10

Answer: ____________

6) Simplify 27:43

Answer: ____________

7) 784 ÷ 28

Answer: ____________

8) A number was shared in the ratio 
3:25. The smaller share was 6. What 
was the total amount shared?

Answer: ____________

9) 13/
2 ÷ 11

/13

Answer: ____________

10) (-527) ÷ 17

Answer: ____________

11) 889.28 ÷ 39.7

Answer: ____________

12) 203/7 ÷ 716/17

Answer: ____________

13) (1 x 62) / (1 x 9-2)

Answer: ____________

14) 5   2/10 - 14   11/12

Answer: ____________

15) Find perimeter of 
square having each 
side (s) equals 316 in

Answer: ____________
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16) 152.8 + 444.1

Answer: ____________

17) 188/18 x 41/15

Answer: ____________

18) Find perimeter of 
triangle
a = 347 m , b = 443 
m

Answer: ____________

19) Find area of square 
having each side (s)
equals 615 ft

Answer: ____________

20) Find the range of the following set of data:

0.4, 0.1, 0.5, 12, 0.9, 13, 0.3, 2, 7

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 607 3) 10000800000 4) 3327,13308,13311, 5) 2 6) 27 : 43 7) 28

8) 56 9) 715/22 10) -31 11) 22.4 12) 2541/945 13) 2916 14) 1843/60

15) 1264in 16) 596.9 17) 751/135 18) 1233m 19) 378225ft 20) 12.9
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